SET-A

Roll No.

Total No. of Printed wwmom.lm

608 R
( Regular )

BIO (Section—A : BOT)

(Science)

( For Students registered in 2021 )

2023 (A)
BIOLOGY
(SECTION—A : BOTANY)

SCIENCE

Full Marks : 35
Time : 1% hours

The figures in the right-hand margin indicate marks
efd aigea 4ol a6 gga gRiIe geIag

Answer all questions serially and continuously from
Group—A and Group—B as per instructions, and any two

Jrom Group—C within 200 words each
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lllustrate your answers with labelled diagrams and
examples, wherever necessary
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. Fill in the blanks selecting the appropriate
nQ.Bm m%nn under each bit: , 1x5=5

gesie %86 qaIQ19a9 d0qee R
QAYYTY QT gNIGIF Jed QQ :

{a) The capacity of a ﬁ_mbn cell to m?o rise to
a new plant is.called

3 B BAE

Q8 619Q Y@ QOR age @m eIt
919 QeIaNd|

(i) totipotency

@ reproduction
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(b) Entry of pollen tube through 'micropyle
during fertilization is called
Jee dagea Ne] RICRA dAUAFRIA
gealg QRIAN|

(i) mesogamy ,
219Qdg6ado &on_ﬂ

(i) porogamy
8Q Q°9f

(iii) chasmogamy
QR A°9A

(iv) chalazogamy
2UQ Gl

(c) An association of two organisms m&nm
together and dobomﬁgm each 092. is

called
eg QId m@m_,@_ G dadag <RIAG!

QAR QAG RIAFR 9@ QLAY ____
QeIaI|

() mutualism / QE6LIAAIS!

(i) saprophytism / €JG6QINING
(iii) parasitism \ (3 [N Iy (A
(iv) commensalism / BQ@E
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{) Lactobacillus
RUQEEINAR
(i) Azotobacter
JIERICOIMIQR
fai} Rhizobtum
QURERITAS]
fiv} Clostridium
- Q8696

{e) Repressor protein is produced by ____ .
~ 99A° QAR ____ QI9I 9g¢6 g4
 {i) regulator gene i
(ii) operator gene
QolIee @R

(iii) structural gene
Q°QERIAR @7

(iv) terminator wn_pa
QaIge &)

wm .,Tb : ( Continued )
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2. Correct the statement  of each bit, if
necessary, by changing the wunderlined
word only : 1x5=5
QMR g6R, J604R °EQ 6QHIFe avg

QAR QG A°CARIR. AQ :

(a) Bacteria mostly reproduce by gemmules.
QIRIgYER AMIREES aRe QAU IIee
QQB|

(b) The excessive growth of Em&wm_mb water-

bodies due to enrichment of nutrients is
called bioremediation.

FRIFAYEREA HIQY QERTI 64lg ABIRR
ASYYS Qg S199ERIR LI

(c) The departure of the species from a
population during a time  period is
immigration.

R1IQQ°GlIq  6QITY QITA RUFR AR
dACQAIIY QLI

(d) In protandrous flower, carpels mature
earlier than stamens.

JeYra] QE6Q 6Rdq 9aQ TRel alag
QR Q2|

(e) The process of formation of RNA from
DNA is translation.

BIRNQ BIFIRIR mmg.mwm.g QLIaNI
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GROUP—B 4. Differentiate between any one pair of the
o following with 3 to 4 important points : 3%
| e 7 Q ¥§ 998 ge odia Goage aug
3. Write notes on any three of the following, 646l6Id 64T 6QIIQ gene @iz -
each with 2 to 3 important points : 2%x3=TY%
gesea w@,@. NG g ge <diq, fafae (a) Backcross and Testcross
RIQ 6a6Q1a7 FeriSa Tgen ey - dagidq agad 8 aQ1eg awas

(@} Parthenocarpy (b) Cleistogamy and Herkogamy

aQJeaee 4e°aalel B YLAIAREQUUR
; : (c) Hydrosere and Xerosere
(b) Endosperm \ FERBRRA G AQRERFA
Y6619
GRrROUP—C
{c) Linkage I3
anee Cl—Qw@ial
; o Answer any two questions within 200 words each :
(d) w%w‘mﬂmﬁmn . e
£2QIQ

6UEEd QT 994 AR Y6SIRT 9003 §R MIER

QY .
fe) Greenhouse effect

dg9e6RI0n gale S. Give an account of the development of male
: ; gametophyte in angiosperms.
() Single-cell protein 2190918 QS06q PYILQq deia gRal 1@
- I@eeiat ggaie , deadn gale eal
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6. Describe Mendel’'s dihybrid cross: with a
checkerboard.

IR 60RA6AIE QILAYER 6F69ARTR G-ATQE
Qg ede Qal :

7. Describe the process of DNA replication.
B9aY god0e gGal Qde eql

8. Give an account of control of .émﬁow pollution.
@R 9984 Q03¢Q 9@ Feadl goie qql
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